cUERERN—B(TH7F4 8 181ET)

2RES| | . , N .
. e RITERE | BEFERE| W | RE |SRERERE BEE
No i3 &5l =] BES N
(M) () BEE | E (M) (M)
(%)
1| P92 AEER —f% A 1|TALEICD & 50 880 2,140 24| 12 1,050 170
ME(0ALLE) 2 700 1,680 24| 1.2 840 140
mRE (EPN 3 440 1,056 2.4 1.2 520 80
ME(0ALLE) 4 350 840 24 1.2 420 70
NFEROFRFE [BA 5 260 624 2.4 1.2 310 50
ME(0ALLE) 6 200 480 2.4 1.2 240 40
FERALES TBGBAET) 7|1tic o= 50 4,400 10,560 2.4 1.2 5,280 880
#31(10A £ T) 8 21,900 52,560 2.4 1.2 26,280| 4,380
2| ZEAiTER BHER — i BA 1|IALEICD & 50 880 1,282 1.4 1.2 1,050 170
HEQ0ALLE) 2 700 1,020| 1.4 1.2 840 140
ERAE BA 3 440 641 1.4 1.2 520 80
HEQ0ALLE) 4 350 510 1.4 1.2 420 70
NFEROFRZE |[BEA 5 260 3791 1.4 1.2 310 50
HEQ0ALLE) 6 200 291 1.4 1.2 240 40
LSRN EES ETBGBAZT) T(1lc o= 50 4,400 6,410 1.4 1.2 5,280 880
H3I(10A£T) 8 21,900 31,904 14| 1.2 26,280| 4,380
mR¥Xv 7V —EAR 2 91ElIz> = 50 5,500 76,368 13.8] 1.2 6,600 1,100
Fm 10 2,750 38,184 13.8] 1.2 3,300 550
3| LS AR LR AR —h% A 1|TALEICD & 50 730 1,784 2.4 1.2 870 140
A (20A L) 2 580 1,417 2.4 1.2 690 110
ERE A 3 360 880 24| 1.2 430 70
A (20A L) 4 280 684 24 1.2 330 50
INFEROHRFE (BA 5 220 538| 2.4 1.2 260 40
A (20A L) 6 170 415 24| 1.2 200 30
FERAES —fix EEE2ZEZT 7|1tlc o= 50 3,780 9,238 24| 1.2 4,530 750
=RAE EEE2ZEZT 8 2,720 6,647 2.4 1.2 3,260 540
TAEERADAL | 9 1,050 2,566 24| 1.2 1,260 210
INFERORZE |EfEEILET 10 1,050 2,566 24| 1.2 1,260 210
MAEERADA |11 440 1,075 2.4 1.2 520 80
EA 6% % TALE 12 10,490 25,636 2.4 1.2 12,580| 2,090
4| #n LA ZBMHR—IL 1|1EC > & 50 5,150 19,240 3.7 1.2 6,180 1,030
HEE1 2 1,380 2,080 15| 1.2 1,650 270
HE=E2 3 830 1,248 1.5 1.2 990 160
HHMEE3 4 1,120 1,664 1.4 1.2 1,340 220
HHEER4 5 1,120 1,664 1.4 1.2 1,340 220
MEKE 6 830 2,392 28] 1.2 990 160




ZHES

No o2 &5 wify RPN BATERR | EEEAR me\ BE |BERERLH R
(M) () BER | X (M) (M)
(%)
S|RERNE *= FHIIR~ 1210 1|1EC> & 50 1,300 2392 18] 1.2 1,560 260
FRIR~F%4305 2 1,140 2,093 18] 1.2 1,360 220
6EMEHEBUL > & — |HELE 1|1EC> & 50 1,230 3,604 29| 1.2 1,470 240
BRk—I 2 1,760 2448 13| 1.2 2,110 350
&= 3 880 2448 27| 1.2 1,050 170
SRE 4 830 2448 27| 1.2 1,050 170
HRISEE 5 1,540 4556 2.9 1.2 1,840 300
EHE 6 880 2448 27| 1.2 1,050 170
% BHR—IL 7 7,040 20,196| 2.8 1.2 8,440 1,400
BEEFEAK 81 E1ES 50 1,100 1,100 1l 1.0 1,100 0
TIWEL S BHER — BA 1|IALEICD & 75 410 508 1.2 1.2 490 80
HEQ0ALLE) 2 330 410 12| 1.2 390 60
ERAE BA 3 200 2501 1.2 1.2 240 40
HEQ0ALLE) 4 160 200 12| 1.2 190 30
INFAEROHRFAE |EA 5 120 150 1.2 1.2 140 20
HEQ0ALLE) 6 80 100 12| 12 90 10
ERFASE ARz ZET) 7|1tic o= 75 1,360 1,680 12| 1.2 1,630 270
H&(10% £ ©) 8 6,820 8,450 12| 1.2 8,180 1,360
HEEEA(EEMR) 91| > & 75 3,360 205,344 61.1f 1.2 4,030 670
EEEB (FR) 10 2,860 149,040| 52.1 1.2 3,430 570
Sle LAty 2— 1B E4F 1|1EIc> = 50 3,300 46,656 14.1] 1.2 3,960 660
RE=E 2 660 7,104 107] 1.2 790 130
REE 3 660 4,800 72| 1.2 790 130
PRI 4 660 6,912 104 1.2 790 130
AEE 5 660 3,072 46| 1.2 790 130
28 BHREQ) 6 330 2,880 87| 1.2 390 60
BIHEQ) 7 660 6,144 9.3 1.2 790 130
HEE 8 660 6,912| 104 1.2 790 130




ZHES

s . - wihy NN BATERR | EEEAR Z&zm BE |BERERLH R
(M) () BER | X (M) (M)
(%)

I aIaz=Fatera— |2BE TR~ 1 1B 1|1EIc> = 50 1,100 1,216] 11| 1.0 1,100 0
~ 151~ 1458 2 1,100 1,216] 11| 1.0 1,100 0
43 4 5RF~F 19K 309 3 1,230 1,368| 11| 1.0 1,230 0

FIEREE TR~ 1 1B 4 1,290 1,344 11 1.0 1,290 0

15 1B~ 1450 5 1,290 1,344 11 1.0 1,290 0

. 5RF~F1%9RF300 6 1,450 1,512 11 1.0 1,450 0

e TR~ 1 1B 7 2,200 5792 2.6 1.2 2,640 440

15 1B~ 1450 8 2,200 5792 2.6 1.2 2,640 440

FOFF~ T 9KF309 9 2,470 6,516 2.6 1.2 2,960 490

Y| EREEEEL Y X — 1|1EIc> = 50 2,510 3,261 12| 1.2 3,010 500
45|50 A I HHEE 1|1EIc> = 50 1,100 74,000| 67.2| 1.2 1,320 220
EapE 2 1,100 62,160| 56.5| 1.2 1,320 220

46| BFEEE B Y 2 — | KERE 1|1HIc> = 25 10,820 14560| 1.3| 1.2 12,980 2,160
211EIC > & 6,520 6,720 1| 1.0 6,520 0

HRE 3|1BIc> & 1,650 2,496 15| 1.2 1,980 330

4l1EIc> & 990 1,152| 11| 1.0 990 0

YT EETREBELY 2 — | AUHMEEFREHEES 1|1EIc> = 50 4,400 3,720 0.8] 1.0 4,400 0
EMRZR—IL 2 3,500 3,180 0.9 1.0 3,500 0

REREE 3 1,980 1,720 08| 1.0 1,980 0

HHEE 4 1,760 1,680 09| 1.0 1,760 0

REERE 5 1,300 1,180 0.9 1.0 1,300 0

SEE]L 6 660 580 0.8 1.0 660 0

22=2(5188) 7 1,100 1,080 09| 1.0 1,100 0

2E=3(5I8E) 8 420 400 09 1.0 420 0

2EE4(RIEE) 9 880 800 0.9 1.0 880 0

L8| THEREN LY & — |ERE 1|1EmIc o= 50 1,040 5226| 5.0 1.2 1,240 200
RiE= 2 850 2,912 34| 1.2 1,020 170

SFEL 3 850 1,690 1.9 1.2 1,020 170

SHE2 4 850 1,508 1.7] 1.2 1,020 170

REEEE 5 1,040 2,106 2.0 1.2 1,240 200

BHhrL—=v /8RB 6|1 & 75 520 650 1.2 1.2 620 100

7|1ElIc > = 160 2001 12| 1.2 190 30

W|HRETICE DL WVBET SH| v v R A—F v 72— 1|1EIC> & 75 300 4182 139 1.2 360 60
2|11E1EIC > & 3,000 41,820| 139 1.2 3,600 600

ZERAN—X 3|1BsRIC D & 50 1,020 5408| 5.3 1.2 1,220 200




ZHES

No a2 e B 184 RITERAR | EEFERR ifm\ WE | ERERR| B
(M) () BEE | E (M) (M)
(%)

SOERENTHEL v 2 — | KEEE FHIORF~F 1K 1|1Ec> & 50 1,650 8,880 5.3] 1.2 1,980 330
FH IR~ %50 2 1,650 8,880 5.3 1.2 1,980 330

TR~ %10k 3 2,050 11,100 5.4 1.2 2,460 410

MI=E FHIORF~F 1K 4 770 3,360 4.3] 1.2 920 150

FH IR~ %50 5 770 3,360 4.3] 1.2 920 150

TR~ %10k 6 950 4200 4.4 1.2 1,140 190

HHME=E FHIORF~ 1K 7 550 2,800 5[ 1.2 660 110

FH IR~ %50 8 550 2,800 5[ 1.2 660 110

F5R~ %10k 9 680 3,500 5.1| 1.2 810 130

XX ARBEE TR~ 1R 1|1Elc> & 50 1,650 8,880 5.3] 1.2 1,980 330
FH IR~ 1550 2 1,650 8,880 5.3] 1.2 1,980 330

F5R~F %10k 3 2,050 11,100 5.4 1.2 2,460 410

MI=E FRIIRF~F 1M 4 770 3,360 4.3| 1.2 920 150

FH IR~ %50 5 770 3,360 4.3] 1.2 920 150

TR ~F K108 6 950 4,200 4.4 1.2 1,140 190

HHE=E TR~ 1K 7 550 2,800 5[ 1.2 660 110

FH IR~ 1550 8 550 2,800 5[ 1.2 660 110

FROEF~T1£100F 9 680 3,500 5.1] 1.2 810 130

B2l b L ERTRE Y 2 — | KEEE TR~ 10 1|1EC> & 50 1,650 8,880 5.3] 1.2 1,980 330
TR 1R~ T 0K 2 1,650 8,880 5.3] 1.2 1,980 330

F1ROEF~T1£100F 3 2,050 11,100 5.4 1.2 2,460 410

hI=E TR~ 10 4 770 3,360 4.3] 1.2 920 150

TR 1R~ T 0K 5 770 3,360 4.3] 1.2 920 150

F1ROEF~T1£100F 6 950 4,200 4.4 1.2 1,140 190

HHE= TR~ 10 7 550 2,800 5[ 1.2 660 110

TR 1R~ T 0K 8 550 2,800 5[ 1.2 660 110

O~ 12 100F 9 680 3,500 5.1 1.2 810 130

B3| 2~ — M BEMEL Y 2 — | KEEE TR~ 105 1|1EC> & 50 1,650 8,880 5.3] 1.2 1,980 330
T 1R~ T %50 2 1,650 8,880 5.3] 1.2 1,980 330

I=E TR~ 105 3 770 3,360 4.3] 1.2 920 150

T 1R~ T %50 4 770 3,360 4.3] 1.2 920 150

THE=E TR~ 105 5 550 2,800 5[ 1.2 660 110

TR 1R~ %50k 6 550 2,800 5[ 1.2 660 110




ZHES

No a2 e B 184 RITERAR | EEFERR ifm\ WE | ERERR| B
(M) () BEE | E (M) (M)
(%)
b4 |1& 4 DR EALHERR FRFERIRE 1|1EsREICD & 75 2,100 2,660 12| 1.2 2,520 420
FHEE (X) 2 2,100 3,135| 14| 1.2 2,520 420
HHEZ () 3 520 931 1.7 1.2 620 100
EAF] A —fig 4[1A1HIZD = 75 300 360 1.2 1.2 360 60
INFAE 5 150 180 1.2| 1.2 180 30
Sh[EREANBEREL v 4 — (2B F—1 FHIORF~F 1K 1|1Ec> & 50 1,650 1,650 1.2 1.2 1,980 330
FH IR~ %50 2 1,650 1,650 1.2 1.2 1,980 330
F R~ %9305 3 1,840 1,840 1.2 1.2 2,200 360
56(MLERBESREL Y 2 — (£ BRIR—L TR~ 1R 1|1Elc> & 50 3,300 6,640 2 1.2 3,960 660
FH IR~ 1550 2 3,300 6,640 2 1.2 3,960 660
FOFF~ % 9KF309 3 3,700 7,470 2l 1.2 4,440 740
ST FHENBESRE Y 2 — [ZBRIKR—L TR~ 1R 1|1Elc> & 50 3,300 6,640 2 1.2 3,960 660
FH IR~ %50 2 3,300 6,640 2 1.2 3,960 660
FOFF~ T IKF300 3 3,700 7,470 2l 1.2 4,440 740
bh|EfEmEyEL Y 4 — (8 |[ArREEE FRIIR~F 1M AllEICD & 50 770 688| 0.8 1.0 770 0
FH IR~ 1550 5 770 688 0.8 1.0 770 0
F R~ %9305 6 850 774 09 1.0 850 0
HHE= TR~ 10 7 550 752 13| 1.2 660 110
TR 1R~ T 0KF 8 550 752 13| 1.2 660 110
FOFF~ % IEF300 9 660 846 1.2 1.2 790 130
58| /\IEZS i — I SEE 1|1EC> & 50 550 736 1.3[ 1.2 660 110
R—IL 2 3,300 6,880 2 1.2 3,960 660
59 RANEEE SEE - APHMEE 1|1EC> & 50 1,100 1,664 15| 1.2 1,320 220
DHE - PHHEE - PEEE 2 990 1,392 14| 1.2 1,180 190
INRERE - INHEE - NEBE 3 550 624 1.1 1.0 550 0
ISR 4 1,650 1,872 1.1 1.0 1,650 0
FRlad=E 5 3,300 4992 15| 1.2 3,960 660
AIa2=F4L—L 6 3,300 9,344 2.8] 1.2 3,960 660
= 7 7,700 8,080 11 1.0 7,700 0




ZHES

No a2 e B 184 RITERAR | EEFERR iﬁm WE | ERERR| B
(M) () BEE | E (M) (M)
(%)
60| OB EEFEL Y X —|ZBEFR—IL HIhTEA 1|1EsREICD & 50 1,470 2,802 19| 1.2 1,760 290
BIRER A —fig ARUNESIE ek 50 220 220 11 1.0 220 0
mRE 3 110 110 11 1.0 110 0
REALT 4 50 50 11 1.0 50 0
AEEZE S|1RFREIC D & 50 610 610 11 1.0 610 0
HHE= 6 510 510 11 1.0 510 0
= 7 510 510 11 1.0 510 0
KHMEE 8 610 610 11 1.0 610 0
IS 9 510 510 11 1.0 510 0
INHEE 10 250 250 11 1.0 250 0
HEEE 11 0 250 11 1.0 250 250
RE 12 1,340 1,340 11 1.0 1,340 0
FZ—Z2a—F a— 13(1m1EREIc > & 50 440 677| 15[ 1.2 520 80
kL) 141 IO & 50 360 576/ 1.6 1.2 430 70
EpEk] T EHE INFER O RFE 15[IALAICDE 50 150 150 11 1.0 150 0
ESREL L 16 510 510 11 1.0 510 0
iEw=r= =t RO HIR == 56 186 186 1l 1.0 186 0
iEwi=r= =t — B SEH= 56 626 626 11 1.0 620 0
= A 17 350 900| 25 1.2 420 70
61 |voretasazrnryomams [ F— L 1|1BEfEIC D & 50 2,100 12,348 58 1.2 2,520 420
EE1 2 140 420 3 1.2 160 20
K2 3 140 420 3 1.2 160 20
DRE 4 550 1,239 22| 12 660 110
REER= 5 550 1,806 3.2| 1.2 660 110
62| P35 OB =L 1|1EC> & 50 6,600 56,916| 8.6] 1.2 7,920 1,320
HE=EL 2 4,400 33,108 7.5| 1.2 5,280 880
HHE=2 3 2,860 15,252 53| 1.2 3,430 570
MEL 4 1,980 74401 3.7 1.2 2,370 390
M=E2 5 1,980 74401 3.7 1.2 2,370 390
M=E3 6 1,980 74401 3.7 1.2 2,370 390
NG| 7 6,600 22,692 34| 1.2 7,920 1,320
2E - EKE 8 990 3,348 33| 1.2 1,180 190
RE 9 9,900 37,200 3.7 1.2 11,850| 1,950




ZHES

" — 31 wify 184 RATERE | EEERE Zﬁ‘h\ BE | BERERE| ERER
(M) () BEE | E (M) (M)
(%)
63| A#HHEL v & — Hriticer HHME=E FH FHIIG~FL 15 1|1Ec> & 50 550 696| 1.2 1.2 660 110
FB1E~F%50H 2 550 696| 1.2 1.2 660 110
Fi5RE~F18k | 3 400 522  1.3] 1.2 480 80
+HEH FHIOR~FR1EE | 4 550 696| 1.2 1.2 660 110
FRIR~F 2455305 | 5 470 609 1.2 1.2 560 90
AEBRUHRE  |Fril0k~F#%1E | 6 400 522 13| 1.2 480 80
FRIB~FL3E 7 270 348 1.2 1.2 320 50
ZEMFR—ILER  |R—L FH FHIOB~FR1E | 8[1EICOF 50 9,680 12,528 1.2 1.2 11,610| 1,930
FB1~F%50H 9 9,680 12,528 1.2 1.2 11,610 1,930
Fi5RE~F488 | 10 7,260 9,396 12| 1.2 8,710| 1,450
+HEH FHIORS~F1E |11 9,680 12,528 1.2 1.2 11,610 1,930
F1RE~F%00 |12 9,680 12,528 1.2 1.2 11,610 1,930
FRBRE~F 2985309 | 13 9,680 14,094 1.4 1.2 11,610 1,930
HEABRUHRE |[Faok~Fils |14 9,680 12,528 1.2 1.2 11,610 1,930
Fi1R~F%58 |15 9,680 12,528 1.2 1.2 11,610 1,930
FEHEE FH FHI9RF~F1EE | 16 2,730 3,336 1.2 1.2 3,270 540
Fi1R~F400 | 17 2,730 3,336 12| 1.2 3,270 540
Fi5RE~Fi48kF |18 2,040 2502 12| 1.2 2,440 400
THER FHIORE~FR1EE |19 2,730 3,336 12| 1.2 3,270 540
Fi1R~F%58 | 20 2,730 3,336 12| 1.2 3,270 540
FIR5E~FRIE30% | 21 2,730 3,336 12| 1.2 3,270 540
HEABRUCHRA |[Frok~Fills |22 2,730 3,336 12| 1.2 3,270 540
Fi1R~F%00 |23 2,730 3,336 12| 1.2 3,270 540
NHMEER B E |FH FHIORE~FR1EE |24 550 624 1.1 1.0 550 0
Fi1R~F%00 |25 550 624 1.1 1.0 550 0
Fi5RE~F1488F | 26 400 468 1.1 1.0 400 0
THER FHIORE~FR1EE | 27 550 624 1.1 1.0 550 0
FiR1RE~F%0K |28 550 624 1.1 1.0 550 0
S5~ 985309 | 29 550 624 1.1 1.0 550 0
HEARUCHRA |[Faok~FElE |30 550 624 1.1 1.0 550 0
Fi1R~F%0E |31 550 624 1.1 1.0 550 0




ZHES

No a2 e B 184 RITERAR | EEFERR ifm\ WE | ERERR| B
(M) () BEE | E (M) (M)
(%)

NaEL > & — Ay T ABEUN L AW | SRELT 2|1 D& 50 1,100 1,274 1.1 1.0 1,100 0
—f% 33 2,200 2549 11| 1.0 2,200 0
AT 2 |&RENUT 34 2,200 2549 11| 1.0 2,200 0
—f% 35 4,400 5,098 1.1] 1.0 4,400 0
AR Z U L 72 0 36 4,400 5,098 1.1] 1.0 4,400 0
AGR & BN 5 37 11,000 12,745  1.1f 1.0 11,000 0
77 v FREBBEE 2TEMA 38 1,880 3,948 21| 1.2 2,250 370
1/3%T{E M 39 620 1,302 2.1 1.2 740 120
64 5&R 218 1[1EIc > = 50 2,200 15,8401 7.2| 1.2 2,640 440
65| EFEIS F kG ERA L ERET 1|1KfIc D & 50 1,100 4,660 4.2 1.2 1,320 220
— i 2 2,200 9,320 4.2 1.2 2,640 440
ERNEE 5 BIh TR ESRELT 2M| 3 290 378 13| 1.2 340 50
FME 4 140 182 13| 1.2 160 20
— i 2H 5 590 7701 1.3 1.2 700 110
Fm 6 290 378 13| 1.2 340 50

BImER U REALT 7[1AlEICD & 50 50 50 11 1.0 50

mRE 8 110 110 11 1.0 110

—fix 9 220 220 11 1.0 220
66| \FREFEKS BERG AR EIRAELT 1|1FfIc D & 50 660 2,2001 3.3] 1.2 790 130
— i 2 1,320 4,400 3.3] 1.2 1,580 260
RERAERBERAR 3 2,610 7,047 27| 1.2 3,130 520
67| EfE LB S HIWCHERY 55 ESRELT 1|1RfIc D & 50 550 660 1.2 1.2 660 110
—fix 2 1,100 1,320 12| 1.2 1,320 220
REAELT 3[1RIC-> = 50 50 50 11 1.0 50 0
ERE 4 110 110 11 1.0 110 0
—fix 5 220 220 11 1.0 220 0
FFEEMT 6| SRR 50 3,960 4,752 11 1.0 3,960 0
mRE 7 6,600 7,920 11 1.0 6,600 0
— % 8 13,200 15,840 11 1.0 13,200 0
68 EF=—2xa—+h F-RI— MEAR 1|1mlEsfEIc> = 75 440 677| 15[ 1.2 520 80
R BB AR R E AR 2 360 576 1.6 1.2 430 70
69|EHARZETZRa—+ |FZRa— MMERAR 1|1mlEsfEIc> = 75 440 677| 15[ 1.2 520 80
R R AR R E A R 2 360 576 1.6 1.2 430 70
0(N\FEF=ZZ2a—+h F-RO— MERAR 1|1mlEsfEIc> = 75 440 677| 15[ 1.2 520 80
R R IR R E AR 2 360 576 1.6 1.2 430 70




wES

No a2 e B ?ﬂ 4 RITERAR | EEFERR ZN\ WE | ERERR| B
(M) () BEE | E (M) (M)
(%)
nre7s—1 A INFERORFZE | 1[1EICO = 75 150 147 09| 1.0 150 0
ERERVAKFE | 2 260 256 0.9 1.0 260 0
— & 3 520 513 0.9 1.0 520 0
EifZS INFEROHRFE | 4 120 118 09| 1.0 120 0
ERERVCAFE | 5 200 197 09| 1.0 200 0
— & 6 410 404 09 1.0 410 0
B2 e NFEROFZE | T[12E2% 75 1,580 1,558 0.9 1.0 1,580 0
ERERVCAFE | 8 2,640 2,604 0.9] 1.0 2,640 0
— i 9 5,280 5208 0.9 1.0 5,280 0
5 25m 7 — L KK E, PFRELT 10|13 —R1EERIc D = 75 470 463 0.9 1.0 470 0
ERERVKEE 11 790 779] 0.9 1.0 790 0
— i 12 1,580 1,558 0.9 1.0 1,580 0
Y7 7T— MKBE, REEUT 13|1/2fEm1KEIc> & 75 520 513 09| 1.0 520 0
EBRERVAFE 14 880 868 0.9 1.0 880 0
— i 15 1,770 1,746 0.9] 1.0 1,770 0
50m 7 — b KK E, PFRELT 16|13 — R 1R Ic D= 75 940 927 0.9 1.0 940 0
BRERVAFE 17 1,580 1,558 0.9 1.0 1,580 0
—fix 18 3,160 3,117 0.9 1.0 3,160 0
2|&rinReRtE 2N — B0 % B TfER ESRELT 2m| 1|1FfIc D & 50 150 152 11 1.0 150 0
Fm 2 70 70 11 1.0 70 0
—fix T 3 300 304 11 1.0 300 0
Fm 4 150 152 11 1.0 150 0
B ImEA LA FREEELT 5|IAlEICD&E 50 50 50 11 1.0 50 0
ERE 6 110 110 11 1.0 110 0
—fix 7 220 220 11 1.0 220 0




wES

No a2 e B jﬂ 4 RITERAR | EEFERR ifm\ WE | ERERR| B
(M) () BEE | E (M) (M)
(%)
73|EBEE 2N — B0 % Bk fER ESRELT 2M| 1|1EsREICD & 50 330 370 1.1f 1.0 330 0
Fm 2 160 179 1.1] 1.0 160 0
—H% 2M| 3 660 7411 1.1 1.0 660 0
Fm 4 330 370 1.1 1.0 330 0
BImER U REELT 5|1AlEICD & 50 50 50 11 1.0 50 0
mRE 6 110 110 11 1.0 110 0
— & 7 220 220 11 1.0 220 0
T4{BFRR—Y = HEEFEAR BIh TR —f4em ESRELT 1|1EsREICD & 50 220 225 11 1.0 220 0
— i 2 440 450 1l 1.0 440 0
—PEmE EIRAELT 3 110 112 1l 1.0 110 0
— i 4 220 225 1l 1.0 220 0
—4em ESRELT 5 490 534 11 1.0 490 0
— i 6 990 1,080 11 1.0 990 0
ZFEFmE EIRAELT 7 250 272 1l 1.0 250 0
— i 8 490 534 11 1.0 490 0
BImER U REALT 9|1TAlEIZD&E 50 50 50 11 1.0 50 0
ERAE 10 110 110 1l 1.0 110 0
—fix 11 220 220 11 1.0 220 0
WEmXERAR | ABEmMEET REAELT 12 190 190 11 1.0 190 0
ERE 13 330 330 11 1.0 330 0
—fix 14 660 660 11 1.0 660 0
BEHI-—T VIR 15(1EIc> = 50 460 488 11 1.0 460 0
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No o2 e B 184 RITERAR | EEFERR me\ WE | ERERR| B
(M) () BEE | E (M) (M)
(%)
75 |EREE B R A7 —FERR | EETER ESRELT 2M| 1|1EsREICD & 50 1,170 1,199 11 1.0 1,170 0
2/3® 2 780 799 11 1.0 780 0
Fm 3 580 594 11 1.0 580 0
1/3m 4 380 389 11 1.0 380 0
—H% 2M| 5 2,360 2,420 11 1.0 2,360 0
2/3ME 6 1,570 1,609 11 1.0 1,570 0
Fm 7 1,170 1,199 11 1.0 1,170 0
1/3m 8 780 799 11 1.0 780 0
BImER LA REALT 9 50 50 11 1.0 50 0
ERAE 10 110 110 1l 1.0 110 0
— i 11 220 220 1l 1.0 220 0
W7V —FERR | B TER EIRAELUT 2| 121 I & 50 420 440 1l 1.0 420 0
Fm 13 210 220 11 1.0 210 0
—H% 2 14 840 880 11 1.0 840 0
FmE 15 420 440 1l 1.0 420 0
BImER U REALT 16|1A1EICD & 50 50 50 11 1.0 50 0
ERAE 17 110 110 1l 1.0 110 0
—h% 18 220 220 11 1.0 220 0
SEHEAR HIhTfEA 19|11 D & 50 270 310 1.1 1.0 270 0
BImEEA LA REAELT 20(1Elc> & 50 50 50 11 1.0 50 0
ERE 21 110 110 11 1.0 110 0
—h% 22 220 220 11 1.0 220 0
HERHERE | AP —F SR MEEED Mk [HEHE & 50 736 736 1 16 730 6
HBERERE | A7V —FBEER) 23|1EEIC D & 50 11,000 11,000 11 1.0 11,000 0
INT Y —F (BERKD) 24 3,670 3,670 11 1.0 3,670 0
6|9 HERETLY X — HIhTEA SRELT 2 1|1EfIc> & 50 330 370 1.1 1.0 330 0
Fm| 2 160 179 1.1 1.0 160 0
—fi% 2 3 660 7411 1.1 1.0 660 0
Fm| 4 330 370 1.1 1.0 330 0
BImER A AT 5|1AlEICD & 50 50 50 11 1.0 50 0
mRE 6 110 110 11 1.0 110 0
—fi% 7 220 220 11 1.0 220 0




No . e B 184 RITERAR | EEFERR ifm\ WE | ERERR| B
(M) () BEE | E (M) (M)
(%)

77 |(\IERBEE BIh TR ESRELT 2M| 1|1EsREICD & 50 660 1,087 1.6 1.2 790 130
Fm 2 330 543 1.6 1.2 390 60
—H% 2M| 3 1,320 2174 16| 1.2 1,580 260
Fm 4 660 1,087 1.6 1.2 790 130

BImER U REELT 5|1AlEICD & 50 50 50 11 1.0 50

mRE 6 110 110 11 1.0 110

— & 7 220 220 11 1.0 220
78| LABEE BIh TR ESRELT 2M| 1|1EsREICD & 50 660 1,087 1.6 1.2 790 130
Fm 2 330 543 1.6] 1.2 390 60
— i 2H 3 1,320 2,174 16| 1.2 1,580 260
FME 4 660 1,087 1.6] 1.2 790 130
BIhER LA AT 5|1 AlEICD & 50 50 50 11 1.0 50 0
ERAE 6 110 110 1l 1.0 110 0
— i 7 220 220 1l 1.0 220 0
79| FHREEE BIh A ESRELT gL —a—Ff 1|1EsREIC D & 50 330 791 0.2 0.8 260 A70
i 2 70 22| 03[ 08 50 A 20
— i sL—a—F 3 660 159 0.2 0.8 520| A 140
B 4 140 45| 03| 08 110 A 30
B ImEA LA FREEELT 5|IAlEICD&E 50 50 50 11 1.0 50 0
ERE 6 110 110 11 1.0 110 0
—fix 7 220 220 11 1.0 220 0
80|t EEkIE S RS ER L ESRELT 2m| 1|1RfIc D & 50 550 700 1.2 1.2 660 110
Fm 2 270 343 1.2 1.2 320 50
—fix | 3 1,100 1,401 12| 1.2 1,320 220
Fm 4 550 700 1.2 1.2 660 110
RAEIRAAR B E AR [ 24T ER T 5 1,880 3,948 21| 1.2 2,250 370
FHE 6 940 1,974 21| 1.2 1,120 180
2/3KTfEF 2 7 1,250 2,625 2.1 1.2 1,500 250
FHE 8 620 1,302 21| 1.2 740 120
1/3%71ER 2 9 620 1,302 21| 1.2 740 120
FHE 10 310 651 2.1 1.2 370 60
Bl{ERZRILZEN I 77~ F ERELUT 1|1FRIcD & 50 550 1,680 3 1.2 660 110
— % 2 1,100 3,360 3 1.2 1,320 220




wES

No o2 e B ?ﬁ N RITERAR | EEFERR me\ WE | ERERR| B
(M) () BEE | E (M) (M)
(%)

QT EZENT T R|ZBHNT 77y RERR ESRELT 1|1EsREICD & 50 270 864 32 1.2 320 50
—f% 2 550 1,761 32| 1.2 660 110
RERRAAR B AR [ 24T EA 3 1,760 6,512 3.7 1.2 2,110 350
2/3KTfEF 4 1,160 4292 37| 1.2 1,390 230
1/3%T1E M 5 570 2,109 3.7 1.2 680 110
83|l % BHEEN L5 ESRELT 1|1EsREICD & 50 320 2372 74| 12 380 60
—f% 2 640 4745 74| 1.2 760 120
alBkEDZRS 77 K EIRAELT 1|1kfEIc > & 50 310 1,771 5.7 1.2 370 60
— i 2 630 3,600 5.7 1.2 750 120
85| HEEE ESERR HiMTER EIRAELUT 2H 1|1KfIc D & 50 880 1,258 1.4 1.2 1,050 170
FME 2 440 629 1.4 1.2 520 80
1/4m 3 220 314 14| 12 260 40
— % 2| 4 1,760 2,516 1.4 1.2 2,110 350
FME 5 880 1,258 1.4 1.2 1,050 170
1/4m 6 440 629 1.4 1.2 520 80

BImER U REALT 7[1AlEICD & 50 50 50 11 1.0 50

mRE 8 110 110 11 1.0 110

—h% 9 220 220 11 1.0 220
MEESEAR HIhTfEA ESRELT 10|1E5REICD & 50 220 330 15[ 1.2 260 40
—h% 11 450 676 15[ 1.2 540 90

BImEEA LA REAELT 12|1A1EICD & 50 50 50 11 1.0 50

ERE 13 110 110 11 1.0 110

—h% 14 220 220 11 1.0 220
WEmRRERR |FlaEE 15| 1A D & 50 220 268 1.2 1.2 260 40
BIRFHE 16 220 268 1.2 1.2 260 40
Ei5(EER 2m| 17 1,050 1,155 1.1] 1.0 1,050 0
FHE 18 520 572| 1.1] 1.0 520 0
1/4m 19 260 286 1.1 1.0 260 0
HEES EE R 20 220 242 11| 1.0 220 0
8GN/ =2 T 75 R—=7 TN T7EERAR ERELUT 1|1IALIHICD=E 50 150 120| 0.8] 1.0 150 0
—h% 2 310 251 0.8 1.0 310 0
ERELUT 3| FEmERAR 50 5,540 4,485 08| 1.0 5,540 0
—% 4 11,480 9,295 0.8] 1.0 11,480 0
7771y MERE 5[IA1IHICOZ 50 110 110 1] 1.0 110 0




ZHES

No s &5 oy . BITERR | R ZSM\ SE | REREREL| ERER
G (M) B | X G (M)
(%)
87|FHEBGEF 2 —4BE (T Y —F Hih A EREUT 2M| 1|1BSfEIc> & 50 330 3701 1.1 1.0 330 0
Fm| 2 160 179 1.1 1.0 160 0
—fi% 2M| 3 660 741 1.1 1.0 660 0
Fm| 4 330 3701 1.1 1.0 330 0
fL—=>—L | B cER EREUT 5 210 228 1 1.0 210 0
—f& 6 420 456 1 1.0 420 0
B ER LS REELT U EPNIE ek 50 50 1 1.0 50 50
R 8 110 1 1.0 110 110
—fi% 9 220 1 1.0 220 220
88|FHEB&GEF X —T—I NFET O REE 1IALEICDE 75 90 3911 43] 1.2 100 10
mRE 2 160 696 4.3] 1.2 190 30
—f& 3 330 1,436 4.3 1.2 390 60




